500

EmBE  S=1:500

/ '/'{"
)/ AP RE#H LT A=400.0m2
/ Q./'
/ 2
b,
‘//
A 16, 000
#///
&
5,) 5000 6,000 5,000
i
4 T

2,500

=6, 100 .
FA=12. om2 | PRSP

=1,200
ﬁl‘- - %ﬁ[_’:7’, 290, _
s

E

__E

700

o
O (s AMET A165
| (] ASERET A3 6n | _

ZAEMmEBE  S=1:50

2,300

SEEFER IOV
BiEFE ZEA
o\
_mﬁ

FARI7IMEEET (H#)

Co

[ /2%

ke

RE BAEZHEAs (TOP13) t=50
ERERRE MAIRESA M-30) t=100
TERE BAYLARA (RC-40) t=120

1,000 I $ % SHEE FBHREIS
/ﬁ%ﬂ BB EREANDABESERFIS
/ - H 7 =+ I=) 2
5 THIGAN| et WREm RE #K
h FEANT Y ) — b aremisox150x06
(21-8-258B. t=100) -4
B B IARE (RC-40) t=100 Fm
R
B — 1% Yo v — sps
e —_— e R| ® & |Rt£AA
M//
FRI7 L EREL (5i) I f& ® &
£F BATHEAs (T0P13) =50 BREZSHL
EEEAE HEIRERE (1-30) t=100 : LR BHERE (45) t=30 -4 Ji':T: T'I'_J X M| 1/4
TERE BAEYIARSA RC-40) t=140 TR Y1AHR (C-40) t=60 FTERY $ % _%




BWETFEEEX S=1:500

) — FEELE, 000

B

THNFE TEREIS
L $ % RETFRZOARESERISE

=S BET MRE RE MK

£

WETEE
R
f= < |BMEARR

it &

2/4

By | &
an




SEHERATITOVT (FEAR)

275~420

600

TER (1)

5=1:20

2,000

SHEHEER IOV (EAER)

600

750
50 180 20 500
HELZIL
8| w == o
w|SD == | avsy—k =
I
8 m HitH
50 750 50
850
HWEBER 10m=% Y
E # # | B # H i S
SEEHRT Oy 4 B HE RA I 16.5 5, 28ke/fE
HELZIL 1:3 m? 0.02
avyy—+ 18-8-25BB n 0.95
B e 2.35
HiEH RC-40 t=100 m2 8.50
HEEEE ? 8.50

750
50 180 20 500
2 BELZL
) 6%
é Lo - <
S 2
'—8 l avyy—+k —
5 750 50
850
HANEE 10m Yy
£ o b2} ® B E 4 = il z
SEEHER IOy Y B KE RA " 16.5 EE, 4ke/E
HBELZIL 1:3 m® 0.02
avsy—+ 18-8-2588 3 0.95
ET w 2.35
HEH RC-40 t=100 e 8.50
EEEE 2 8.50
> e
1= BE
E I Bﬁ ==
150
8
§ I30)
)i
o 6L o
S B
N \
o
S \
~N
\
3 £
100 100
390~450
HWEMER 2mL Y
% i i % |BA 4 2 i z
avhy—+r 18-8-408B - 0.13
FT n? 1.45
HiH RC-40 =150 - 0.84
HEEBE w 0.84

THSFEE TERE

15

RETEREDARESERIE

EEM

MIZHET BE

R

TR (1)

Al
%IFH

HEINS

i &

BY <
an B

3/4




ST #4450

TEE (2)  S=1:20

570
495
o
©
I
2 3 = 160 |3
Te) <t < N
| I
(D)
| — o
©
60 450 60 o
2 485
(=]
| e
o
~— (=]
(2] (=2
.e [ap]
=]
(o)
gl
| 670
WEHER 1084 Y
A i ) % | B # & f 3
Bt 450 x 450 @ 10.0
B30 17 RC-40 t=100 m* 4.49
EEBE m 4.49

BE ¢300

318

BHEIEIL E=)LE ¢300

BER

UVERIE (BFIA)

[oe]
©
o
™
cj
©
850 ‘
HEUEE _—
% i i O[B4 # = il =
BEELEZLE $ 300 n 10.0
HEEH Bt =568 - 4.03
HEEEE 2 8.5

400
o 300 5
a !
~
g & BELZL
¥ T 1
[=
g
53
B84 |00 a0 g
WERER 10ms v
& ® | m @ |am| & = m =
[UE:Z2 T 300A @ 16.5
BELZL 1:3 m? 0.02
M RC-40 t=100 m? 5.0
RERE 2 5.0

SHBREIS

SMSEE
L $ % RETERZIUARESERTE

TEIZfR| sen #AR

B OBRE R

I%EE

(2)

g R T |miteRR

H
el

B %

G

i
=
BH @

a0 B

4/4




